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NBAT HINE K4 £l GROSS| HDCP | NET | crossimtiz =
1 [BEE  *x 55 55/20.0 [35.0 B
2 |l x 46 46/10.8 [35.2 247
3 B e 45 45/ 9.6 135.4 3 fiL
4 R *x 51 51/15.6 [35.4 447
5 A xx 50 50/14.4 [35.6 5 fir
6 HiE =x* 43 43 7.2 135.8
7 BB ek 43 43| 7.2 135.8 7 H7
8 RAFE ek 49 49]13.2 135.8
9 R xx 54 54/18.0 136.0
10 [FRJI] xx 41 41| 4.8 136.2 1 047
11 [HES ek 41 41] 4.8 [36.2
12 =4 * 41 41] 4.8 [36.2
13 [F#E xx 53 53/16.8 136.2
14 [/hEF xx 40 40| 3.6 /36.4
15 | & 40 40| 3.6 [36.4
16 JB/K _ x 40 40] 3.6 136.4
17 'EB  x 45 45| 8.4 136.6
18 | FH 51 51114.4 136.6
19 |FK sk 38 38| 1.2 136.8
20 [BEH ek 44 44] 7.2 136.8 RE
21 BB *x 44 44] 7.2 136.8
R 50 | 50/13.2 ]36.8
23 |$RIGHET 43 431 6.0 137.0
24 (PR k% 43 43] 6.0 137.0
25 /NEF 43 43] 6.0 [37.0
26 k4 *x 49 49[12.0 [37.0
27 PZEEE 41 41] 3.6 [37.4 =
28 JI3B 47 47/ 9.6 [37.4
29 (AT wwx 46 46] 8.4 [37.6
30 A0k 46 46| 8.4 137.6 HE
31 [BE5L *x 46 46| 8.4 [37.6
32 HEE *x 46 46| 8.4 [37.6
33 B 46 46] 8.4 [37.6
34 K dokx 52 52/14.4 |37.6
35 Ak eex ' 45 45 7.2 137.8
36 |JCE ek 45 45 7.2 137.8
37 [HEH x 45 45| 7.2 137.8
38 |KZEZ: *x 45 45 7.2 137.8
39 [FH  *x 45 . 45] 7.2 137.8
40 $K * 45 45 7.2 137.8 RE
41 |F 8  #* 43 43| 4.8 138.2
42 B0 *xx 49 49]10.8 [38.2
43 ZERE ek 49 49/10.8 [38.2
44 |ALR wE 49 49/10.8 138.2
45 B ek 49 49/10.8 [38.2
46 BB wkx 55 55/16.8 [38.2
47 M ek 55 55/16.8 [38.2
48 |HAf  *x 42 42 3.6 138.4
49 |8 * 47 47 8.4 138.6
50 E = 46 46| 7.2 138.8 FEE

1/ 2 dtHEITIL I




HAH :2017.4.5 13:48
%é‘f\,%/\h? o AP
B{EER B (201746044050 (7K)

B YT Rldk—n M2 8 4 5 6 7
RaAFTHy b BRI 49
A= — 3]

BRAT B¥E20.0 L1520.0
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JNEAL SNE K4 3] GROSS| HDCP | NET | crossieifiz =
51 |BA  ®kx 46 46| 7.2 138.8

52 |RZPY ek 45 45] 6.0 [39.0

53 LA sk 45 450 6.0 [39.0

54 |{FEE ok 57 57118.0 139.0

55 FA  kx 44 44| 4.8 [39.2

56 | R4 bk 44 44| 4.8 [39.2

57 IERFH ok 50 50/110.8 [39.2

58 | KEF ek 50 50[10.8 [39.2

59 |IUAS  * 49 49] 9.6 [39.4

60 |EHE * 49 49] 9.6 [39.4 RE
61 [ 49 49] 9.6 [39.4

62 R  ** 54 54]14. 4 [39.6

63 |EA xk 47 470 7.2 139.8

64 |FBE ek 53 53113.2 [39.8

65 | KFE ok 53 53/13.2 139.8

66 |dH ek 52 52112.0 [40.0

67 |FLA  wxx 52 52/12.0 140.0

68 |ILIfE ** 58 58/18.0 [40.0

69 4K ek 60 60/20. 0 [40.0

70 [FAFE ek 60 60(20.0 [40.0 RE
ET 56 56/15.6 [40. 4

72 EJE ek 48 48] 7.2 140.8

73 K ek 47 47] 6.0 [41.0

4 *k 61 61/20.0 |41.0

75 |ZH % 51 51/ 9.6 |41.4

76 |E&  *x 51 511 9.6 |41.4

77 |BEE ek 62 62120.0 [42.0

78 AT % 59 59/16.8 [42.2

79 RBAK ek 52 521 9.6 [42.4

80 [RXA ek 50 50| 7.2 [42.8 RE
81 [ARTF 56 56/13.2 42.8

82 | ek 55 55/12.0 |43.0

83 |FH ** 53 53| 9.6 143.4

84 |FE4L xx 52 52| 8.4 [43.6

85 |EEF sk 64 64120.0 44.0

86 |EEF owx 54 54| 9.6 [44.4 BB
87 I/NEJI * 64 64119.2 |44.8
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